
𝑥 + 𝑦 =

 𝑥 + 3 = 5 

𝑥 + 3𝑦 = 5  𝑥 + 𝑦 =

 𝑥 + 𝑦 =

𝑥 + 𝑦 =

 6𝑦 − 4 = 2𝑥 −2𝑥 + 6𝑦 = 4 

3𝑥 − 4 = 5 −6𝑥 + 7𝑦 8𝑥 − 9𝑦 + 10 = 0
4

5
𝑎 − 3 =

1

2
𝑏

8𝑥 − 9𝑦 = −10 
4

5
𝑎 −

1

2
𝑏 = 3

𝑥 + 𝑦 =

 𝑥  𝑦 

 𝑥 + 2 = 5 𝑥 = 3 

𝑥 = 3 𝑥 + 2 = 5 

 𝑥 + 2𝑦 = 4 (𝑥, 𝑦) = (0, 2) (𝑥, 𝑦) = (0, 2) 𝑥 = 0 𝑦 = 2

(𝑥, 𝑦) = (1,
3

2
) , (2, 1), 

(𝑥, 𝑦) =

(3, −2)  −2𝑥 + 3𝑦 = −12 −2𝑥 + 3𝑦 (𝑥, 𝑦) = (3, −2) 

−2 × 3 + 3 × (−2) = −12 (𝑥, 𝑦) = (3, −2) 



(𝑥, 𝑦)  3𝑥 − 4𝑦 = 6 

(𝑥, 𝑦) = (2, 0) (𝑥, 𝑦) = (6, 6) (𝑥, 𝑦) = (−2, 3) (𝑥, 𝑦) = (
2

3
, −1)

3𝑥 − 4𝑦  (𝑥, 𝑦) = (2, 0) 3 × 2 − 4 × 0 = 6 

3𝑥 − 4𝑦  (𝑥, 𝑦) = (6, 6) 3 × 6 − 4 × 6 = −6 

3𝑥 − 4𝑦  (𝑥, 𝑦) = (−2, 3) 3 × (−2) − 4 × 3 = −18 

3𝑥 − 4𝑦  (𝑥, 𝑦) = (
2

3
, −1) 3 ×

2

3
− 4 × (−1) = 6 

(𝑥, 𝑦) = (2, 3) 𝑥 + 𝑦 = 5 2𝑥 + 3𝑦 = 13 

(𝑥, 𝑦) = (2, −3)

𝑥 + 𝑦 = −1 −𝑥 + 𝑦 = 5 −4𝑥 − 5𝑦 = 7

2𝑥 + 3𝑦 = 8 3𝑥 − 2𝑦 = 12
𝑥

2
+

4

3
𝑦 = −3

(𝑥, 𝑦) = (2, −3) 

𝑥 + 𝑦 = −1 2𝑥 + 3𝑦 = 8 

−𝑥 + 𝑦 = 5 3𝑥 − 2𝑦 = 12 

−4𝑥 − 5𝑦 = 7 
𝑥

2
+

4

3
𝑦 = −3 

𝑥 + 𝑦 = 5

2𝑥 + 3𝑦 = 13

 



  𝑥 𝑦

𝑥 𝑦

𝑥 𝑦

𝑦 = 2𝑥 − 3 

3𝑥 − 2(2𝑥 − 3) = 5

3𝑥 − 4𝑥 + 6 = 5

−𝑥 = −1 𝑥 = 1

𝑦 = 2 × 1 − 3 = 2 − 3 = −1 (𝑥, 𝑦) = (1, −1)

3𝑥 − 2𝑦 = 3 × 1 − 2 × (−1) = 5 

(𝒙, 𝒚) = (𝟏, −𝟏)

𝑦 = 𝑥 − 3 −2𝑥 + 5𝑦 = −15

 2𝑥 − 5𝑦 = 9 𝑥 = −3𝑦 − 9

𝑦 = 𝑥 − 3 

2𝑥 − 5(𝑥 − 3) = 9

2𝑥 − 5𝑥 + 15 = 9

−3𝑥 = −6 𝑥 = 2

𝑦 = 2 − 3 = −1

(𝒙, 𝒚) = (𝟐, −𝟏)

𝑥 = −3𝑦 − 9 

−2(−3𝑦 − 9) + 5𝑦 = −15

6𝑦 + 18 + 5𝑦 = −15

11𝑦 = −33 𝑦 = −3

𝑥 = −3 × (−3) − 9 = 0

(𝒙, 𝒚) = (𝟎, −𝟑)

 3𝑥 − 2𝑦 = 5

 𝑦 = 2𝑥 − 3

 



  𝑥 𝑦

𝑥 𝑦

𝑥 𝑦

𝑥 

             𝑦 = −4

             2𝑥 + (−4) = 6

             2𝑥 = 10

                𝑥 = 5 (𝑥, 𝑦) = (5, −4)

2 × 5 − 3 × (−4) = 10 + 12 = 22 

(𝒙, 𝒚) = (𝟓, −𝟒)

2𝑥 − 3𝑦 = −4 −𝑥 + 2𝑦 = −8

5𝑥 − 3𝑦 = −19 𝑥 − 4𝑦 = 14

3𝑥 = −15 𝑥 = −5

2 × (−5) − 3𝑦 = −4

−10 − 3𝑦 = −4

−3𝑦 = −4 + 10

−3𝑦 = 6

𝑦 = −2

(𝒙, 𝒚) = (−𝟓, −𝟐)

−2𝑦 = 6 𝑦 = −3

𝑥 − 4 × (−3) = 14

𝑥 + 12 = 14

𝑥 = 14 − 12

𝑥 = 2

(𝒙, 𝒚) = (𝟐, −𝟑)

 2𝑥 + 𝑦 = 6

 2𝑥 − 3𝑦 = 22

 



𝑥 𝑦

 2𝑦 𝑦 

4𝑥 + 2𝑦 = 12

             𝑥 = 5

             2 × 5 + 𝑦 = 6

             10 + 𝑦 = 6

                    𝑦 = −4 (𝑥, 𝑦) = (5, −4)

3 × 5 + 2 × (−4) = 15 − 8 = 7 

(𝒙, 𝒚) = (𝟓, −𝟒)

3𝑥 + 4𝑦 = −23 5𝑥 − 3𝑦 = 19

−𝑥 + 3𝑦 = −1 3𝑥 + 5𝑦 = −9

−3𝑥 + 9𝑦 = −3

13𝑦 = −26 𝑦 = −2

−𝑥 + 3 × (−2) = −1

−𝑥 − 6 = −1

−𝑥 = −1 + 6

−𝑥 = 5

𝑥 = −5

(𝒙, 𝒚) = (−𝟓, −𝟐)

25𝑥 − 15𝑦 = 95

9𝑥 + 15𝑦 = −27

34𝑥 = 68 𝑥 = 2

3 × 2 + 5𝑦 = −9

6 + 5𝑦 = −9

5𝑦 = −9 − 6

5𝑦 = −15

𝑦 = −3

(𝒙, 𝒚) = (𝟐, −𝟑)

 2𝑥 + 𝑦 = 6

 3𝑥 + 2𝑦 = 7

 



𝑥 + 𝑦 =

𝑥 + 𝑦 =

2𝑥 − 6𝑦 − 6𝑥 = 6 −4𝑥 − 6𝑦 = 6

−2𝑥 − 3𝑦 = 3

3𝑥 + 6𝑦 − 2𝑥 − 4𝑦 = 1 𝑥 + 2𝑦 = 1

2𝑥 + 4𝑦 = 2

𝑦 = 5

𝑥 + 2 × 5 = 1 ⇔ 𝑥 = −9

(𝑥, 𝑦) = (−9, 5)

−2 × (−9) − 3 × 5 = 18 − 15 = 3 

(𝒙, 𝒚) = (−𝟗, 𝟓)

4(𝑥 − 𝑦) − 𝑦 = 2 3(𝑥 + 𝑦) = 18

𝑦 = 2𝑥 + 2 2𝑥 − (4𝑦 − 1) = 7

4𝑥 − 4𝑦 − 𝑦 = 2

4𝑥 − 5𝑦 = 2

4𝑥 − 5(2𝑥 + 2) = 2

4𝑥 − 10𝑥 − 10 = 2

−6𝑥 = 12

𝑥 = −2

𝑦 = 2 × (−2) + 2 = −4 + 2 = −2

(𝑥, 𝑦) = (−𝟐, −𝟐)

𝑥 + 𝑦 = 6

2𝑥 − 4𝑦 + 1 = 7 2𝑥 − 4𝑦 = 6

𝑥 − 2𝑦 = 3

3𝑦 = 3 𝑦 = 1

𝑥 + 1 = 6 ⇔ 𝑥 = 5

(𝑥, 𝑦) = (𝟓, 𝟏)

 2(𝑥 − 3𝑦) − 6𝑥 = 6

 3(𝑥 + 2𝑦) − 2𝑥 − 1 = 4𝑦

 



 0.2𝑥 − 0.3𝑦 = 1.3 𝑥 −
3

2
𝑦 = 1

0.01𝑥 + 0.03𝑦 = −0.07  
𝑥

3
+

𝑦

4
=

5

6

2𝑥 − 3𝑦 = 13

𝑥 + 3𝑦 = −7

3𝑥 = 6 ⇔ 𝑥 = 2

2 + 3𝑦 = −7 ⇔ 3𝑦 = −9 ⇔ 𝑦 = −3

(𝑥, 𝑦) = (𝟐, −𝟑)

2𝑥 − 3𝑦 = 2

4𝑥 + 3𝑦 = 10

6𝑥 = 12 ⇔ 𝑥 = 2

2 × 2 − 3𝑦 = 2 ⇔ 4 − 3𝑦 = 2 ⇔ −3𝑦 = −2 ⇔ 𝑦 =
2

3

(𝑥, 𝑦) = (𝟐,
𝟐

𝟑
 )

𝐴 = 𝐵 = 𝐶

𝐴 = 𝐵 = 𝐶

𝑥 − 𝑦 = 3𝑥 − 6𝑦 = 3 2𝑥 + 3𝑦 = 3𝑥 + 2 = 5𝑦 + 4

𝑥 − 𝑦 = 3

3𝑥 − 6𝑦 = 3

𝑥 − 2𝑦 = 1

𝑦 = 2

𝑥 − 2 = 3 𝑥 = 5

(𝑥, 𝑦) = (𝟓, 𝟐)

2𝑥 + 3𝑦 = 5𝑦 + 4

3𝑥 + 2 = 5𝑦 + 4

2𝑥 − 2𝑦 = 4 

𝑥 − 𝑦 = 2

3𝑥 − 5𝑦 = 2

3𝑥 − 3𝑦 = 6

2𝑦 = 4 𝑦 = 2

𝑥 − 2 = 2 ⇔ 𝑥 = 4

(𝑥, 𝑦) = (𝟒, 𝟐)


